IIpunoxenue I'

MuHHCTEPCTBO HAYKH ',
U BbIcuIero oopazosanusi P@® //
®I'OY BO «<HHRY «MIN» [/| A AO
HHCTUTYT JUCTAHLHOHHOI'O

U JOIMOJIHUTEJIBHOI'0 06p330BaHI/ISI

ONEHOYHBIE U METOAUYECKHUE MATEPHAJIBI J1JIS1 KOHTPOJIA
OCBOEHMA PE3YJIBTATOB OBYYEHUA

JNOMOJHUTEJIBbHOM OBPA30BATEJIBHOM ITPOI' PAMMBI

noevluieHUsA Keanugukayuu
«AH2UIICKUTL A3bIK 011 AKAOEMUYECKUX U HAYYHBIX Yeell 01 CReUUaIucmos 6 odiacmu
ungopmayuonnvix mexnoao2uii u asmomamuzayuu (4acmol)»,

Texkymmii KOHTPOJIb
Texymuii KOHTPOJIb TPOBOAMTCS B COOTBETCTBUU C XapPAKTEPUCTUKAMH KOHTPOJIBHBIX
3aJIaHKMK U TIpecTaBiIcH B Ta0i. 1.

Tabmauua 1
XapaKkTepUCTHKA 3aJaHUH TEKYIIErO0 KOHTPOJIA
Haumenosanue dopma IIpumep 3ananus Kpurepun onenku
JUCLUILINHBI KOHTPOJIs1/
(Momys) HaMCHOBAaHHE
KOHTPOJIBHON
TOUYKH

AHTIMACKUAN SI3BIK JJIS aKaJIeMHUYECKUX M HAYUHBIX I1EJIeH IS CIISIUaTUCTOB B 00JIaCTH
nH(OPMAIIMOHHBIX TeXHOJIOTHI 1 apToMaTtu3anuu (Yactel)

I'pammaTuka TectupoBanue Test1 Oyenxa: 5
TEXHHUYCCKOI'O Present TenSES. Huorcnui Nnopo2 BbINOJIHEHUSL
TEKCTa Active Voice 3a0anus 6 npoyenmax: 70

Choose the correct Onucanue xapaxmepucmuxu
svinoaHenus snanus: OLeHKa

item. ¥ .
OTJINYHO" BBICTABIIIETCS
€CJIY 3aJJaHHE BBIITOJIHEHO B
1. Wow, your house HOJTHOM 0GBEME HITH
great! BBINOJHEHO
Ais Iooking B NPEUMYIICCTBEHHO BEPHO.
looked C looks Oyenxa: 4
Huorcnuii nopoe évinonnenus
2. Nowadays, 30a()aHuﬂ 6 npoyenmax. 60
nucanue XapaKmepucmuxu
people _____more evinonnenus snanus: OueHka
hours than before. ""Xopo1110" BBICTaBIIAETCS
A works eciy GOJIBIINHCTBO
B are working BOIPOCOB PACKPBITO,

C have been working | BriOpato sepoe
HapaBJICHUE JIA PCIICHUA

3a7a4.

3. Mydad
for work early every | Ovenxa:3




morning.
Aisleaving B
leaves C has left

4. Colin isn’t here;
he to
football practice.

A has gone B has
been C goes

5. The show

at 9 o’clock.
Aisending Bwill
end Cends

6. Ilhave lived in
Spain | was
ten.

A ever B

for C since

7. Tracy seldom

to the
cinema.
Ahasgone B
goes C has
been

8. Jason
still
in the garden.
A is/working
B has / worked
C has / been working

9. We a
party tomorrow.

A have

B are having

C have been having

10. This soup

awful!
Aistasting B
taste C tastes

11. 1 with
what you are saying.
A agree

B am agreeing

Huoicnuii nopoe evitnonnenus
3a0anus 8 npoyermax: 50
Onucanue xapaxmepucmuxu
svinoanenus snanus: OueHKa
"y IOBJIETBOPUTENHHO"
BBICTABIISIETCSI €CITH 3a7laHue
NPEUMYILIECTBEHHO
BBITIOJTHEHO.




C have agreed

12 Ken
twenty emails since
this morning.

A has send B
has been sending
C has sent

13. John has
finished his

homework.

A yet B

already C since

14. 1 Joan is
very nice.

A am thinking

B have thought

C think

15. I never

George at school.
Asee  Bhave
seen  C am seeing

16. The baby
often at
night.
Aliscrying B
cry  Ccries

17. The boys
to CDs in
their bedroom now.
A listen B are
listening  C listens

18. How long
you
the piano?
A are/playing
B has/played
C have / been playing

19. | have

been to the theatre
before.

A never B ever C
seldom




20. Joeis

on time for school.
She’s never late.

A usually B
rarely  C always

21. Craig has been a
doctor ten
years.

A since B for

C yet

22. have
you been working as
a teacher?

AWhen B How
longago C How
long

23. Candice
sometimes

TV in the evening.
A watch Bis
watching C
watches

24. Who

my shoes? They’re
dirty!

Aliswearing B
has been wearing
C wears

25. Charlie
recently
to the

dentist.

A has / been

B is / going

C has / been going

Underline the correct
variant and explain
your choice (at one
point both variants
are correct).

1. Beginner
researchers usually
need much/many




advice.

2. | want to know
what is research/what
research is.

3. Much research in
nanotechnology has
been/was done
recently.

4.1 can’t say much
about a/the recent
research on
intelligence.

5. There are two
focuses/foci in this
research.

6. We want to do a
research in/into this
problem.

7. More than a half of
the papers published
proves/prove this
view.

8. A great number of
authors
disagree/disagrees on
the point.

9. Statistics say/says
that there is little
connection between
the variables.

10. 75% arelis a very
strong indication.

11. None of the
methods works/work
aswell as a
laboratory test.

12. There are/is a
positive and a
negative evidence in
this study.

13. Research does/is
done by researchers.
14. There are three
hypotheses/hypothesis
in this research.

HpOME)KyTO'-IHaH aTrrecranus




[TpomMexyTodHas aTTecTanus MO MporpaMMe MPOBOAMTCS B (hopMe 3ayeTa, HK3aMeHa
WIH OTYETa O CTAXKUPOBKE B COOTBETCTBHH C YYCOHBIM IUTAHOM. XapaKTepPUCTUKA 3aJlaHUM
npejicTaBieHa B Tao. 2.

Tabauua 2

XapakTepucTUKa 3aJlaHui MPOMEKYTOUHON aTTeCcTalluu

HaumenoBanue IIpumep 3ananus Kpurepuu onenku
JUCLUTIIUHBI
(MoJtyist)
AHnrnuiickuii s3Ik | He mpegycmotpeno He npenycmotpeno
JUIS

aKaJeMHUYSCKUX U
Hay4HBIX LEJIeH
JJIS CTICLIMAINCTOB
B o0jacTu
MH(pOPMaIMOHHBIX
TEXHOJIOTHUH U
aBTOMAaTH3aIIH
(Hactb1)

Hrorosas arrecranusa
Wroromas arrectamusi o TporpaMmme MPOBOTUTCS B (QOpPME umoz208020 3auemd.
XapakTepucTHKa 3aJaHui IIpeIcTaBlieHa B Ta0. 3.

Tabnuua 3

XapakTepuCTHKA 3aJaHUI HTOTOBOW aTTECTalluU

Bup xoHTpONS

KpaTKaH XAPAKTCPUCTHUKA 3aIaHUSA

Kpurepun onieHkn

Hrorosas
aTTecTanus

1.1. Fill in the blanks with the
suitable words

oscilloscope, integrated circuit,
latency time, redundancy,
embedded systems

1. Check the to
see if this machine is working
correctly.

2. A(n) IS very

small but has several devices
attached to it.
3. Ifthe

New processor.
4. This factory has

low , so it doesn’t

replace machines quickly.
5. The
newest software and hardware.

on the
machine is too long, it might need a

uses the

Ouyenka: 3a4TCHO

Onucanue xapaxmepucmuxu
svinonnenusi 3uanus: OIEeHKN
«3aYTEHO» 3aCITyKHUBACT
CITyIIaTesnb, 00HAPY KUBIIUH
BCECTOPOHHEE, CHCTEMAaTHIECKOE U
riry0oKoe 3HaHHe Y4eOHOTO U
HOPMaTHBHOI'O MaTepHaia,
YMEIOIIHil CBOOOIHO BBIMOJIHATH
3aJlaHusl, IPEyCMOTPEHHBIE
IPOrpaMMON.

Ouyenka: HE 3a4TCHO

Onucaime xapakmepucmuKku
6blNOJIHEeHUA SHAHUA. OHCHK& «HE
3a4TEHO» BBICTABJISIETCS
CIIYIIATEI0, OOHAPYKUBIIEMY
poOebl B 3HAHUSIX OCHOBHOTO
y4e0HOT0 MaTepuaia,
JOIMyCKAaIMmEMY IMTPUHIUITUATIBHBIC
OHII/I6KI/I B BBIIIOJTHCHU U
IPELYCMOTPEHHBIX IPOTrPAMMON
3aJaHNM.




1.2. Read the sentence pairs.
Choose which word or phrase best
fits

each blank
1. integral / derivative
a. A action

keeps increasing its effort until the
error is zero.

b. A(n) action
measures the change in error over
time.

2. oscillation / PID control

a. uses
mathematical functions to increase
efficiency.

b. A(n) isa

repeated variation in signal.

3. logic control / negative
feedback

a. uses binary
inputs and outputs.

b.  Common thermostats operate
on the principle of

2. Choose the correct item.

1. This monument was built .......
the Aztecs.

A with B by C from

2. The kitchen table ......... yet.

A hasn't been cleaned B isn't
being cleaned C wasn't being
cleaned

3. A new shopping centre ...... in the
city centre last Saturday.

A has been opened B is
opened C was opened

4. She ...... her teeth checked
yesterday morning.

A has had B had C was
having

5. The celebrity ......... at the
moment.

A isinterviewed B isbeing
interviewed C has been
interviewed

6. America ...... by Christopher
Columbus in 1492.

A was discovered B has been




discovered C was being
discovered

7. The students ......... their exam
results next week.

A will be given B are

given  C will have been given
8. The lock was cut ......... a
special tool.

A by B from C with

9. A large amount of goods ..........
from an electrical shop last night.
A arestolen B were stolen

C are being stolen

10. Their Internet connection .........
yesterday afternoon.

A was installed B is
installed  C is being installed
11. The walls were decorated
......... posters of her favourite pop

stars.
A with B from C by
12. The robbery ......... to have

been carried out by a single person.
A is being believed B is
believed  C will be believed
13. The race was won ...... a French
athlete.

A with B from C by
14. The student's excuse may .........
by the teacher.

A not be believed B not
believe ~ C not be believing

15. The football team for the cup
final ......... by next week.

A is being selected B is
selected  C will have been
selected

16. A 24-hour strike ......... by civil
servants tomorrow.

A will be held B isheld

C has been held

17. Karl ......... his car serviced
once a year.

A has B was having C is
having

18. The sculpture ......... by a
group of conservationists.

A has restored B is

restored  C has been restored
19. Wuthering Heights was written




.«....... Emily Bronte.

A with B by C from
20. That film ......... by an
Australian director.

A directs B was directed

C directed

21. By this time tomorrow, you
......... notified about the meeting.
A will have been  C should
be B will be

22. She ......... playing the cello
throughout the evening.

A was hearing B was
heard C heard

23. Which artist was this portrait
painted ......... ?

A with B from C by
24. She had her secretary .........
her a flight to Paris.

A to book B booking C
book

25. The goldfish ......... yet.

A has not been fed B isnot
feed C hasnot fed

3. Read the class handout. Then,
choose the correct answers.

1. What is the handout mostly
about?

A. benefits of combining control
systems

B. troubleshooting steps for control
systems

C. characteristics of different
control systems

D. historical uses of control systems

2. Which control system can create
oscillations in the value of PV?
proportional control

logic control

PID control

on/off control

COow>

3. What is NOT true about the set
point of an oven?

A. It is needed to calculate the
error.

B. Itis used to determine the PV.
C. ltis connected to the thermostat.




D. It can prompt a component to
turn off.

Review of Control Systems

There are a number of different
control systems. Some are very
simple? While others are much
more elaborate.

Logic control:

In Unit 12.3, we designed control
systems using ladder logic. These
were simple logic control systems.
Historically, logic control systems
consisted of multiple small
mechanical relays. Today, most
logic control systems use
microcontrollers instead.
Feedback control:

Simple on/off controls are a type of
feedback control. A standard
electric oven is a good example.
The oven thermostat uses negative
feedback to control the heating
elements. The thermostat monitors
the temperature, or process variable
(PV). The elements turn off when
the PV passes the set point (SP).
The difference between the PV and
SP is the error.

Linear control:

Linear control produces a constant
control signal. Simple proportional
control changes the control signal
relative to the error. However, these
may produce undesirable
oscillations in PV. More advanced
PID control uses derivative and
integral functions to increase
efficiency.

4. Listen to a conversation
between two students.

Mark the following statements as
true (T) or false (F).

1. The man is confused about
integral functions in PID control.
2. The woman explains the
difference between logic and linear
control.

3. According to the woman, logic




control parts are sometimes used in
linear control systems.

Listen again and complete the
conversation.
Student 1: Well, I'm going over my
notes. And I don’t quite understand
the difference between 1

and PID control.
Student 2: Okay. Well, they both
respond in proportion to the 2

Student 1: Right, | knew that. But
what do the derivative and integral

functions do in 3 ?
Student 2: Straight proportional
control creates 4 in PV.

Derivative and integral functions
reduce the oscillations.
Student 1: | see. So they make the
control signal more precise?
Student 2: Yeah, exactly.
Student 1: And they’re both 5
, right?
Student 2: Yes. But 6

, in the real world
there’s some overlap. Linear control
systems might have some logic
control parts.

He3aBucumasi oneHka KkadecTsa 00y4eHHs

He3aBucumast onieHka kauecTBa 00y4eHUs peArnoaaraeT BHyTPEHHUM ayiuT
nporpamm JI1IO u aHkeTHpoBaHUe cinymaTeneil u/umm padboToaareneil Mo Borpocam
YZIOBJIETBOPEHHOCTH MIPOLIECCOM U Pe3yJIbTaTaMU O0yUYEeHHMSL.

Y4eOHO-MeTOoANYeCKOe U MH(OpMAaMOHHOE o0ecTieyeHne

a) nmureparypa HTb MOU:

1. IlerpoBa, U. B. Anrmmiickuii s3bik: MH(DOpMaTHKa U BBIYMCIUTENbHAS TEXHUKA.
Cucrembl aBTOMaTH4eckoro ympasieHus: [B 2-x 4.]. U. 1 : ydyeOHOoe mocobue mo Kypcy
"AHrnuiickui S3bIK" A cryaentoB Maructpatypsl / U. B. Ilerposa, FO. H. Bumnskosa, H.
A. BacuneeBa, Hau. uccnen. yu-t "MOUN" (HUY"MBMH") . — Mocksa : U31-80 MOU, 2021 .
— 168 c. - ISBN 978-5-7046-2440-0 .
http://elib.mpei.ru/elib/view.php?id=11522;

2. IlerpoBa, U. B. TexHuueckuid mepeBOJ i1 HWHKEHEPOB W HUCCIEAOBATENCH :
yueOHoe mocobue To Kypcy "AHTIUHCKUN S3BIK" JUIsI CTYJEHTOB MAarucTpaTypsl H
acupaHToB TexHuueckux yHuBepcutetoB / M. B. Ilerpoma, Ham. uccnen. yu-t "MOU"
(HUY"MBHN") . — M. : U3a-80 MOU, 2018 . — 108 c. - ISBN 978-5-7046-2107-2 .




http://elib.mpei.ru/elib/view.php?id=10650.

0) nmureparypa ObC u B/I:

I. A. A. CrpenbuoB- "IIpakTuKyM 1O MNEpPEeBOAY HAYYHO-TEXHUYECKUX TEKCTOB:
English <> Russian", U3natensctBo: "Undpa-Nuxenepus", Mocksa, Bonoraa, 2019 - (381

c.)
https://biblioclub.ru/index.php?page=book&id=564673.

B) ucnoiab3zyemsie ObC:

He npedycmompeno

MNopnucaHo 3NeKTPOHHO| noanuckio $TEOY BO «HUY «M3W»

CeeneHuna o enagensue L3N M3KU
PyKOBOﬂHTeHB Bnageneu MakcumoBa AA. AA.
OJI10, IIIIT YBO Waermdnrarop  R6a033713-VorozhtsovaAA-daecds] MakcumMmoBa

MNopnucaHo 3NeKTPOHHO| noanuckio $TEOY BO «HUY «M3W»
CeeneHuna o enagensue L3N M3KU

E : Bnageneu KpoxuH A.T.
Haganeauk OJII10 - Malt ¢ Maenmadnrarop R6d4610d5-KrokhinAG-aa301764 A.T'. KpoxuHn




